
1616

Model: 848TA, T-Stat Control
Ultra-Max Gas Griddle 

SK2631,    Rev. -  12/11/12

1

3

4

29

12

15

16 17

13

18
6

19

20

21 22

19 23

25 26
9

27
28

24

14

6

33
32

31

30 37
36
35
34

6

5
6

7
8

9

3
10

11
3

6

2

2M
-Z

16
55

8;
 U

ltr
a-

M
ax

 G
as

 G
ri

dd
le

2M
-Z

16
55

8;
 U

ltr
a-

M
ax

 G
as

 G
ri

dd
le



1717

Model: 824TA, 836TA, 848TA, 860TA, 872TA  
Gas Griddle, Thermostat Control

Fig No Part No Qty Description Application

1

G5-824032

1 GRIDDLE PLATE GAS 
STEEL

824TA
G5-836032 836TA
G5-848032 848TA
G5-860032 860TA
G5-872032 872TA

2 G5-824012
1

CHUTE ASSEMBLY
824TA, 836TA, 848TA

2 860TA, 872TA

3 2C-Z2893

8

NUT 10-24 HEX STL ZP

824TA
11 836TA, 848TA
13 860TA
16 872TA

4 2F-Z4613

2

BURNER 824 SERIES

824TA
3 836TA
4 848TA
5 860TA
6 872TA

5 G5-Z16155

2

BURNER COVER PLATE

824TA
3 836TA
4 848TA
5 860TA
6 872TA

6 2C-8833

31

SCREW 8-18X1/2 HEX 
STL NP

824TA
42 836TA
45 848TA
56 860TA
74 872TA

7

2A-Z16923

2

ORIFICE HOOD #38, NAT

824TA
3 836TA
4 848TA
5 860TA
6 872TA

2A-Z4931

2

ORIFICE #52 BLK, LP

824TA
3 836TA
4 848TA
5 860TA
6 872TA

8 2A-9369

2

ORIFICE-FITTING

824TA
3 836TA
4 848TA
5 860TA
6 872TA

9 2K-70104-
03

4

FLEXIBLE TUBE 3/8OD 
X 8

824TA
6 836TA
8 848TA
10 860TA
12 872TA

10 G5-Z4817
1

FLUE DIVIDER
824TA, 836TA, 848TA, 
860TA

2 872TA

11

G5-Z4812

1

FLUE 24” 824TA
G5-Z4813 FLUE 36” 836TA
G5-Z4814 FLUE 48” 848TA
G5-Z4815 FLUE 60” 860TA
G5-Z4816 FLUE 72” 872TA

12 2K-Z15231 1 PIPE SEG - 3/4x24.00 BI 848TA
13 2K-Z4611 1 ELBOW 3/4 NPT 848TA

Model: 824TA, 836TA, 848TA, 860TA, 872TA  
Gas Griddle, Thermostat Control

Fig No Part No Qty Description Application

14

2K-Z16583

1

MANIFOLD PIPE 824T 824TA
2K-Z16584 MANIFOLD PIPE - 836TA 836TA
2K-Z16585 MANIFOLD PIPE - 848TA 848TA
2K-Z16586 MANIFOLD PIPE 860T 860TA
2K-Z16587 MANIFOLD PIPT 872TA 872TA

15 G5-Z4897
1

DRAWER SLIDE
824TA, 836TA, 848TA

2 860TA, 872TA

16 G5-824014
1

GREASE DRAWER ASSY
824TA, 836TA, 848TA

2 860TA, 872TA
17 2A-Z4614 4 FOOT- 2 IN D.X 4 IN L. ALL

18

G5-Z16588

1

T-STAT BRKT 824TA 824TA
G5-Z16589 T-STAT BRKT 836TA 836TA
G5-Z16590 T-STAT BRKT 848TA 848TA
G5-Z16591 T-STAT BRKT 860TA 860TA
G5-Z16592 T-STAT BRKT 872TA 872TA

19 2C-200014 4 SCREW 8-32X3/8 THP 
SS ALL

20 2M-Z15805 1 ULTRA MAX LOGO 848TA

21 G5-Z16532

2

KNOB ASSY LG GS/K 
KEYR

824TA
3 836TA
4 848TA
5 860TA
6 872TA

22 2M-Z15214

2

DIAL GRAPHIC - 550F TA

824TA
3 836TA
4 848TA
5 860TA
6 872TA

23

G5-Z16516

1

FRONT PNL 24” TA 824TA
G5-Z16515 FRONT PANEL 836TA 836TA
G5-Z16514 FRONT PANEL 48” TA 848TA
G5-Z16513 FRONT PNL 60” TA 860TA
G5-Z16512 FRONT PANEL 72” TA 872TA

24 2C-8477 2 CLIP .125 PO STL PHOS 848TA

25 2C-Z5883

6

10-24 X 1/2 FZA SCREW

824TA
8 836TA
12 848TA, 872TA
16 860TA

26 2C-Z8547

2

SCREW, 6-32 
SHOULDER

824TA
3 836TA
4 848TA
5 860TA
6 872TA

27 2K-2675

4

ELL90 3/8MPTX3/8CC 
BRASS

824TA
6 836TA
8 848TA
10 860TA
12 872TA

28 2T-Z16593

2

T-STAT GAS GS 550F

824TA
3 836TA
4 848TA
5 860TA
6 872TA

29 G5-Z16703 2 FRNT PANEL BRKT ALL

PARTS LIST           December 26, 2013, Rev B

Star International Holdings Inc. Company

2M
-Z

16
55

8;
 U

ltr
a-

M
ax

 G
as

 G
ri

dd
le

2M
-Z

16
55

8;
 U

ltr
a-

M
ax

 G
as

 G
ri

dd
le



1818

Model: 824TA, 836TA, 848TA, 860TA, 872TA  
Gas Griddle, Thermostat Control

Fig No Part No Qty Description Application

30 2V-Z15281

2

PILOT BURNER

824TA
3 836TA
4 848TA
5 860TA
6 872TA

31 2P-1453 1 PLUG-PIPE 1/8NPT SQ 848TA

32 2V-6671

2

VALVE-LINCOLN 
BRASS#3817

824TA
3 836TA
4 848TA
5 860TA
6 872TA

33 2K-Z5106

2

ELL, 1/8P-3/8T - BRASS

824TA
3 836TA
4 848TA
5 860TA
6 872TA

34 2C-Z16361 2 HALF CLAMP 848TA
35 2C-Z5556 2 WASHER 1/4 FLAT SS 848TA
36 2C-Z5557 2 WASHER 1/4 SPLIT SS 848TA
37 2C-Z5555 2 BOLT 1/4-20 X .75 HEX 848TA

NI 2J-Z4686 1 RGLTR-GAS 3/4X3/4 
CONVERTABLE

PARTS LIST           December 26, 2013, Rev B

Star International Holdings Inc. Company

2M
-Z

16
55

8;
 U

ltr
a-

M
ax

 G
as

 G
ri

dd
le

2M
-Z

16
55

8;
 U

ltr
a-

M
ax

 G
as

 G
ri

dd
le


